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Name: __________________________________



1
The image of [image: image1.png]MABC



 after the transformation [image: image2.png]


 is [image: image3.png]MNA'BC



.  Which property is not preserved?

	1)
	distance

	2)
	orientation

	3)
	collinearity

	4)
	angle measure



2
Triangle ABC has the coordinates [image: image4.png]


, [image: image5.png]


, and [image: image6.png]


.  Triangle ABC is rotated 180° about the origin to form triangle [image: image7.png]ABcC



.  Triangle [image: image8.png]ABcC



 is

	1)
	acute

	2)
	isosceles

	3)
	obtuse

	4)
	right



3
If [image: image9.png]AWX'Y



 is the image of [image: image10.png]


 after the transformation [image: image11.png]Roge



, which statement is false?

	1)
	[image: image12.png]




	2)
	[image: image13.png]




	3)
	[image: image14.png]




	4)
	[image: image15.png]M X WY =/ X W'V







4
Triangle ABC has the coordinates [image: image16.png]


, [image: image17.png]


, and [image: image18.png]


.  If [image: image19.png]MABC



 is reflected over the line [image: image20.png]


, which statement is true about the image of [image: image21.png]MABC



?

	1)
	One point remains fixed.

	2)
	The size of the triangle changes.

	3)
	The orientation does not change.

	4)
	One side of [image: image22.png]MABC



 is parallel to the line [image: image23.png]


.



5
If [image: image24.png]MABC



 is mapped onto [image: image25.png]MNDER



 after a line reflection and [image: image26.png]MNDER



 is mapped onto [image: image27.png]


 after a translation, the relationship between [image: image28.png]MABC



 and [image: image29.png]


 is that they are always

	1)
	congruent and similar

	2)
	congruent but not similar

	3)
	similar but not congruent

	4)
	neither similar nor congruent



6
After the transformation [image: image30.png]


, the image of [image: image31.png]MABC



 is [image: image32.png]


.  If [image: image33.png]


 and [image: image34.png]A'B =9x-8



, find the value of x.

7
Quadrilateral MATH is congruent to quadrilateral WXYZ.  Which statement is always true?

	1)
	[image: image35.png]A





	2)
	[image: image36.png]




	3)
	Quadrilateral WXYZ can be mapped onto quadrilateral MATH using a sequence of rigid motions.

	4)
	Quadrilateral MATH and quadrilateral WXYZ are the same shape, but not necessarily the same size.



8
When a quadrilateral is reflected over the line [image: image37.png]


, which geometric relationship is not preserved?

	1)
	congruence

	2)
	orientation

	3)
	parallelism

	4)
	perpendicularity



9
Quadrilateral MNOP is a trapezoid with [image: image38.png]MI || OF



.  If [image: image39.png]AMINOR



 is the image of MNOP after a reflection over the x-axis, which two sides of quadrilateral [image: image40.png]AMINOR



 are parallel?

	1)
	[image: image41.png]


 and [image: image42.png]




	2)
	[image: image43.png]


 and [image: image44.png]




	3)
	[image: image45.png]


 and [image: image46.png]




	4)
	[image: image47.png]


 and [image: image48.png]






10
The vertices of parallelogram ABCD are [image: image49.png]


, [image: image50.png]


, [image: image51.png]


, and [image: image52.png]


.  If ABCD is reflected over the x-axis, how many vertices remain invariant?

	1)
	1

	2)
	2

	3)
	3

	4)
	0



11
The image of rhombus VWXY preserves which properties under the transformation [image: image53.png]


?

	1)
	parallelism, only

	2)
	orientation, only

	3)
	both parallelism and orientation

	4)
	neither parallelism nor orientation



12
Pentagon PQRST has [image: image54.png]


 parallel to [image: image55.png]TS



.  After a translation of [image: image56.png]


, which line segment is parallel to [image: image57.png]


?

	1)
	[image: image58.png]




	2)
	[image: image59.png]




	3)
	[image: image60.png]




	4)
	[image: image61.png]






13
A property not preserved under a line reflection is

	1)
	angle measure

	2)
	collinearity

	3)
	distance

	4)
	orientation



14
A line reflection preserves

	1)
	distance and orientation

	2)
	angle measurement and orientation

	3)
	distance, but not angle measurement

	4)
	distance and angle measurement



15
Which property is not preserved by a glide reflection?

	1)
	betweenness

	2)
	angle measure

	3)
	orientation

	4)
	collinearity



16
Triangle A'B'C' is the image of triangle ABC after a translation of 2 units to the right and 3 units up.  Is triangle ABC congruent to triangle A'B'C'?  Explain why.


1
ANS:
2
REF:
081515ge

2
ANS:
4

Distance is preserved after a rotation.
REF:
081304ge

3
ANS:
2
REF:
061509ge

4
ANS:
1

[image: image62.png]


 remains fixed after the reflection.
REF:
011622ge

5
ANS:
1

Distance and angle measure are preserved after a reflection and translation.
REF:
081802geo

6
ANS:


Distance is preserved after the reflection.  [image: image63.png]2x+13=9x-38
=7





REF:
011329ge

7
ANS:
3
REF:
082203geo

8
ANS:
2
REF:
011211ge

9
ANS:
1
REF:
011102ge

10
ANS:
2
REF:
081202ge

11
ANS:
3
REF:
061421ge

12
ANS:
3
REF:
081104ge

13
ANS:
4
REF:
068030siii

14
ANS:
4
REF:
088421siii

15
ANS:
3
REF:
088617siii

16
ANS:


Yes, as translations do not change angle measurements.
REF:
061825geo

